Spare Part List

Page [Valid from SNe

10of4

Product name

DLED 4.1-Bi

126.5P.02

€0'ds’ezl

GXEIN-G96 NIC
11°dS'9¢)

TRERR
A
2

\

9l'ds'gcl

126.5P.15

7iN-086 Nid

90'dS'9¢|

[126.5P.04]

DIN 551-M4x5

126.5P.31

DIN 965-M6x12

126.5P.10
126.5P.11

126.5P.32
126.5P.33
126.9P.34
126.5P.35

0€'dS9¢)

62 dS'9¢I




Page | Valid from SNe

2o0f4

Spare Part List

Product name

DLED 4.1-Bi

FWé'F’”.WI

AN

62 dS°'9¢1

— |
£0'dS' 921 60dS'9¢l
10°'dS'921




8¢'dS'9¢1

L2°dS'9¢|

Page | Valid from SNe

30f4

Spare Part List

-
N

Product name

DLED 4.1-Bi

9¢'dS'9¢l

0SX9IN-G96 NIT

§2'dS'9¢)

(= a7 b

€2 dS9¢l |

90'dS9c) }

cedsS9el —

126.SP.24

AN

NN
N o
WA @®

&

126.SP.36



126.5P.24 |

126.SP.36

Spare Part List

Py

HENOTEE

NS

Page | Valid from SNe

4 o0f 4

Product name

DLED 4.1-Bi

VoA e =




DEDOTEC Optical and mechanical systems Ltd.

Spare Part Table
DLED 4.1 bicolor — 40W lighthead

From SN ...... to SN .
Code Description Technical data Pcs
126.SP.29 Head mobile bicolor - - - 1
| | 126.SP.02 Front ring monocolor 40W set - - 1
| | | [126.SP.03 Front ring monocolor 40W - e e 1
N 126.SP.04 Locking parts set - - - 1
N 126.SP.05 Lock 471.00.05 1
n 126.SP.06 Spring for lock - - 1
- - - DIN 980 — M4 - - e 1
|| 126.8P.07 Adapter for stand 40WV set - == - 1
|| - - - DIN 551 — M4x5 - - - 1
| 126.SP.08 Adapter for stand 40W 126.00.12 1
|| 100.SP.26 Knob for adapter 400.21.02 1
- - - DIN 965 — M6x12 - - - 1
| | 126.SP.09 Handle mobile set - — 1
|| 126.SP.10 Handle mobile 126.00.05 1
|| - - - DIN 980 — M6 - - 1
] 125.8P.23 Profile washer M6 125.80.02 1
|| - - - DIN 2093 — 6x18x0,8 - - - 2
126.SP.11 Washer 1 126.00.11 1
| | 126.SP.30 Bicolor lens holder set i 1
|| 126.SP.31 Frontlinse bicolor - = 1
|| 126.SP.32 Spring for frontlinse bicolor 126.00.28 1
|| 126.5P.33 Spring for meniskuslinse bicolor 126.00.28 1
|| 126.SP.34 Meniskuslinse bicolor - - 1
126.SP.35 Bicolor lens holder 126.00.14 1
126.SP.15 Focus 40W - - - 1
126.5P.16 Focus ring 126.00.02 1
126.SP.17 Focus thread ring 126.00.10 1
- - - DIN 965 — M3x5 - - 4
126.SP.36 Radiators mobile bicolor set - - - 1
126.SP.37 LED 40W bicolor - - e- 1
- - - DIN 912 — M3x6 - - 4
126.SP.20 Temperature protection —— - 1
126.SP.21 LED holder 126.00.15 1
- - - DIN 965 — M4x40 - - - 2
126.SP.22 Heat transport rod 40W 126.00.13 1
126.5P.06 Spring for lock - - - 1
126.SP.23 Radiator inside 40W 126.00.08 1
| | 126.SP.24 Radiator 40\ set - e 1
] - - - DIN 965 — M6x50 - - - 1
|| 126.SP.25 Radiator 40W 126.00.06 1
] 126.SP.26 Back handle 40W 126.00.26 1
n 126.SP.27 Adapter for connector 126.00.19 1
126.SP.28 XLR connector - e e 1




